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Интерактивный тест по 
английскому языку для 

начальной школы



Тест предназначен для учащихся  
2 – 4 общеобразовательных 

учреждений.
Необходимо выбрать 

правильный ответ из 4-х 
предложенных.
Очень прост 

в употреблении.



Укажите лишнее 
слово:

grapes

beans

potatoes

garlic



Выберите 
правильный 

вариант:

He can play football. 

He cans to play football.

He can to play football.

He cans play football.



Выберите правильный 
вариант употребления 

вспомогательного глагола: 
… she play tennis?

Does

Is

Do

Are



Решите пример: 
«six plus twelve is 

…»:

eighteen

thirteen

nineteen

sixteen



Укажите порядковое 
числительное 

«третий»:

the third
the first

the fourth

the second



Выберите правильный 
вариант:

This is ... taxi. ... taxi is red. 

a-the

-  -  -

the - the

an-the



What falls on the 
water and never gets 

wet?

shadow

leaves

a frog

a boat



Укажите 
прошедшее время 

глагола «to go»

went

goed
gone

want



Вставь подходящее 
слово: 

It’s cold and…in 
winter.

snowy

rainy

sunny

windy



Вставьте am, is или are:
  I … a doctor. 
He … a boy. 

We … pirates. 
What colour … the monkey? -       

  It… brown.

am, is, are, is, is
am, is, are, is, am
is, am, are, are, is

are, is, am, are, is



Укажите предложение, в 
котором допущена ошибка

They will go to the cinema yesterday. 

She usually watches TV in the 
evening.

When did you write a test?

He does not like oranges. 



Вставь подходящий 
вспомогательный глагол
What….you like to eat for 

breakfast?

do

have

will

does



Вставь подходящий 
вспомогательный глагол: 
… you know Nancy 

well?

Do

Are

Will

Have



Вставь подходящий глагол:
Last year we … to the trip with 

our class.

went

have gone

gone

go



Выберите правильный 
ответ:

When do you study?

In the morning.

At school.

At the cinema.

On Sundays.



Good job!


